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KEY FOR CLASS :  10

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions

01 Option (B) is the correct answer. The correct spelling is : Beginning.
04 Option (C) is the correct answer. It is : Jour-ney. All others are with 3 syllables each.
05 Option (B) is the correct answer. ‘Gallows’ is the same spelling for singular and plural.
06 Option (A) is the correct answer. It is the past tense of ‘lie’, meaning, ‘to put yourself in a flat or horizontal

position so that you are not standing or sitting’.
07 Option (C) is the correct answer. In addition to being an adverb, meaning, ‘generally, when you consider

everything’, it, as a noun, means ‘a loose coat worn over your clothes to prevent them from getting dirty’,
such as those worn in garages and labs.

09 Option (D) is the correct answer. Modem = Modulator+Demodulator.
13 Option (D) is the correct answer. The word ‘sew’ is pronounced as ‘so’, like ‘low’.
15 Option (B) is the correct answer. The five words are : Dire, dive, ride, vide and vied.
16 Option (C) is the correct answer. The catch (all the fish caught) of a fisherman.
25 Option (C) is the correct answer. Indefinite article before a word is decided on the sound the first syllable

of that word produces. In ‘RTC’, ‘auto’ and ‘undergraduate’, the sound produced is that of a vowel as in ‘are’,
‘author’ and ‘another’ respectively, so the article ‘an’; and in ‘one-way’ it is of a consonant as in ‘won’, so
the article ‘a’.

26 Option (D) is the correct answer. The word 'only' compels the use of 'some'.
29 Option (B) is the correct answer. The structure can be parallel only if we use the ‘third noun’ like ‘housing’

that does not demand any article before it.
32 Option (C) is the correct answer. An ‘eraser’ is a companion/part of a pencil and so is a ‘nib’ of a ‘pen’.
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